1.	Explain what Gross Profit Margin is.
 	
 	
2.	Write down the formula for the Gross Profit Margin in the space below.
	


3.	Explain what Net Profit Margin is.
 	
 	
4.	Write down the formula for the Net Profit Margin in the space below.
	


5.	Explain what Average Rate of Return is.
 	
 	
6.	Write down the formula for the Average Rate of Return in the space below. Year 1
£15 000
Year 2
£24 000
Year 3
£20 000
Year 4
£28 000
Year 5
£34 000

Jonathan is considering investing £56,000 in a new business which sells tennis products. He has completed some market research and estimates that over a 5 year period there will be the following annual net cash flows.

	


7.	On average, how much profit does Jonathan make per annum?
 	
 	
 	
 	
8.	Calculate Jonathan’s Average Rate of Return.
 	
 	
 	
 	
 	
 	


9.	Jonathan had also researched a business opportunity (B) where the Average Rate of Return was 15% year. Based purely on the Average Rate of Return, which business should he invest in; the tennis equipment business or Business B? Explain your reasoning.
 	
 	
 	
 	
 	
 	
10.	Now reflect upon your answer to 7c. Why might Jonathan decide to invest in the business that has the lower Average Rate of Return over 5 years?
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{ Question 2.

Hastings Group focuses on the development, production, installation and support of electrical, electronic, (a) (i) Calculate the average
and mechanical components for aircraft, helicopters, missiles and targeting systems. The company has a rate of return for each
leading position in the field of aircraft and helicopter services, customisation and modification. Hastings’ S

mpl I i N (ii) Explain which project
employees are engineers and skilled workers. In 2007 the directors identified three investment projects that should be selected.

would benefit the company: Explain the advantages to
* R&D project; Hastings Group of using
© Marketing campaign; this method of appraisal.
* Some new CNC machinery.

The capital cost and expected cash flows for the investment projects are shown in Table 9.

Table 9: Capital cost and expected cash flows for three investment projects

~ Investment project Capital cost 2008 2009 2010 2011 2012 2013 Total
— R&D 9600 0 0 2500 4600 5, 5500 17,600
Marketing campaign 9,000 5,000 4,000 3,000 2,000 , 1,000 16,000

New CNC machinery 7,800 2,000 2,000 2,000 2,000 ,00C 2,000 12,000
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Table 47.1 Gross profit margins at selected UK clothing companies

Sales revenue £598 million £470 million £164 million
minus cost of sales | £230 million £183 million £88 million
equals gross profit | £368 million £287 million £76 million
Gross profit margin | £368 million « 100 = 61.5% £287 million £76 million

x 100 = 61.1%
£598 million

— X 100=46.3%
£470 million £164 million
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1 Look again at Table 47.1 on page 231. Explain
one possible reason why French Connection’s
gross profit margin was so much lower than
that of SuperGroup and Ted Baker.

2 Outline what would happen to profits if a
business allowed its fixed running costs to
grow too fast.

3 Look at this data from Ryanair.
Table 47.4 Revenue and profit at Ryanair

2015 2016

Sales revenue | £5,654 million | £6,536 million

Net (operating) | £1,043 million | £1,460 million

profit

(a) Calculate Ryanair's net profit margin for
2015 and 2016.

(b) Comment on whether 2016 was a good or
bad year for Ryanair.

4 Annual profits on an investment of £600,000
are shown in Table 47.5.

Table 47.5 Forecast annual profits

Annual profits

(£ thousands)
Year 1 +100
Year 2 +400 ‘
Year 3 +400
Year 4 +180

(a) Calculate the average rate of return.

(b) The company has another investment
possibility that could yield a 25 per cent
return a year. Should it go ahead with
both?
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As Figure 47.1 shows, companies in different
markets can end up making very different profit
margins. In this graph, Ted Baker and Burberry
can be compared directly, as they are both in the
luxury clothing sector. Sainsbury’s and Ryanair
are in very different sectors.

%25

20

Sainsbury’s ' Ted Baker ! Burberry Ryanair
Figure 47.1 Net profit margins in 2016
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10 }
5 3
ol , B}

Total: 15 marks
1 Analyse whether Burberry's higher net

profit margin proves that it is better
managed than Ted Baker. (6)

Having seen this graph, Sainsbury’s senior

management is determined to improve the

company’s net profit margin. It has identified

two methods:

¢ Option 1: Moving the company’s head office
from central London to central Bristol, to
cut the property rental costs in half.

# Option 2: Making all staff and managers
earning more than £120,000 redundant.

Justify which one of these two options
Sainsbury’s should choose. (9)
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